1 2 3 | 4 5 6 i |
EHESS ﬂiﬁ H E',ﬂl HEL ?é“- E&ET% WETERE D
HY—Z =y T (EE) e &
GREASE NIPPLE (EQUI-SPACED) - 10H8 /8
-— | fHEERB I TEF (ZE)
A= ADDITIONAL MACHINING ALLOWABLE RANGE J
9 (EQUI-SPACED) 24 (M)
6-M8 x 20 23 (SJ)
1.8 || 2 it kLY 33N - m 23
| 23. 4 26 TIGHTNING TORQUE : 33N - m
I | ——=
4 L) — o 1625 & @
' MAX 20.75
1 1 7 MIN 5.754-25 ' 8 A\ 2 @
B | R A <
= i D
E ™~ =" ! P
: C % | N e
A Z !
I AX . 0 |
MAX1 20 | | ) 2
o MING : ° o)\ = 2
g ,>_< R43 N . =
- -8 e 4 o9 g of W ——- |- S 1 - ZENN \N e P S | 7/ I ; -
s o & § F e 2 ©o @y
N é 2 0[O ® .
S = 3 e, N N P
S © .
Nis< = .
R — -- 7 N ==
9 tL—Y3rvEyF 1.5
SERRATION PITCH 1.5 ]
10 S L w / )
ArO—7% ! ] JES @
STROKE Sig > 4,
- alEE %
6-M5 x 12 ~E NS
WA RILY TN m e 3
TIGHTNING TORQUE : 7.5N = m >< 3-M10 x 60 '
4 fs W RLY TN - m |
36 4o LR 12 (=) WAX TIGHTNING TORQUE : 73N - m |
g:jz_-g_ 3-M6 DEPTH12 (EQUI-SPACGED) 15
AR w / {# SPECIFICATIONS ACOESSORY
1YY USRI YRS —C a—AIEORE—I M EXTERNAL | INTERNAL e fm
A= 3—IRBIDORIZESI KSICTSI VOV HEE BN T AT REE GRIPPING | GRIPPING .
ARSI e RIZH =} ;’\B’D’?ncﬂit "ﬁ NCHINING NEZEEE | NRIEER F;QIE%‘@E“C_H X 1 P I;_ce
ALLOWABLE DEPTH PLUNGER STROKE 10 mn —
NOT l CE TSR bO—4 SOFT JAW 3 pieces
JAW STROKE (IN DIAMETER) 5 4 mn V7 b2 3—:3J05N1 37
1. ADJUST THE POSITION OF PLUNGER AT THE CYLINDER 3—XbO—4 (EET) ' T-NUT 3 pieces

FORWORDED END SO THAT THE REFERANGCE MARK OF Sy

MASTER JAW MEETS THE LINE OF THE EXTERNAL SIDE e 5 o NPT FORCE 16.6 kN | 8.3kN Tk 7

OF THE STROKE MARK. JAW MOUNTING BOLT ;

MAX. STATIC GRIPPING FORCE \ 1 6 pieces
%fﬁﬂ‘]?l’?ﬁﬁ 36 kN 18 kN O a—R{tRIL + M8 x 20 6 4
MAX. SPEED . -1 CHUCK MOUNTING BOLT 3 pieces
8000
45 R EEEE min F vy 7 BRI~ M0 x60 3 4
ATl MASS 6.2 ke
40 Input force E= ' 1. %?C%jﬁé]?E#Eﬁlil&l'Fd)i%ﬁd)ﬁ
35\ 16. 6kN MOMENT OF INERTIA 2 HBRAAS
R AR N i En BT — % o 1 0.015 kg *m RS S 2 F v v 2 EE & Y 15m
. . S - A 3 ‘:I: —_ > E D)
8000 min 5 v 6r ipping force |imit DYNAWIC GRIPPING FORCE AT MAX SPEED e ] 2. kO—+vy MEFERIL—FUSNDOIEFFRLERE A,
20/ w= 30 E &= R O BIIBE S ' . . e val e toll
< : ! .Max. static gripping force is the values in the following cases.
o 20.5 7000 min-! %@_ " —JZKN ?g;g;ég RANGE 1~ 135 - - Max. permissible input force.
Lz 15 'hCDil& : 10kN . * Gripping center height : 15 mm above the chuck body surface.
o = g - : MAX. PERMISSIBLE HYDRAULIC PRESSURE 2.Tools other than plate wrench for draw nut are not included.
S W 6000 min™' g 2 S T (OPERATING CYLINDER : FO933H) 3. 3WPa 1.7 WPa
= m s \ HERKEES (EAL UK . F0933H)
.%ﬂﬁ 10 5000 min || @ o —— b e
%Ej v ' :
= 4000 min™! ) 10 = i AN :
0 ;
3000 min! ! 5 2kN i
2000 minT ! ;/26 CAREER SCALE | TYPE |BRO5
0 ' 0 ’ : )

0 10— 30 40 50 60 0 10 20 30 4 50 60 1:1 POWER CHUCK 5
s b S a— 20 Tkgom . APPROVAL | INSPECTION | DRW 3D NAVE gE(T)gIDE -
standard soft jaws ’[Siﬁ’gﬂﬁ 1_5"'" RSN E & (mm) [RE® < 50 mm | | Al | 3RD ANGLE

" . peciTicaion ipoi i Height limit ' '
Py T3 —EEE—A2 bk 3xmxr  (kg-mm) Gripping center height : : DATE @_ DRW To YA A ]
Moment of mass of top jaws Kitagawa Corporation 2024/03/18 g NO. 61 Pi86:6396,_’/_]__\g /I p
1 ! 2 ! 3 L1 0 N 6 ! 7 ! 8




	ｼｰﾄ1
	図面ﾋﾞｭｰ1
	断面表示 Z-Z
	図面ﾋﾞｭｰ5
	図面ﾋﾞｭｰ6
	図面ﾋﾞｭｰ9


